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A family of two adults and
two children went to
Brighton for the day.

❋ They spent £54 on train tickets.
The children travelled at half price.
How much were the adult tickets?

❋ They spent £50 in a restaurant for lunch. How much was that each
on average?

❋ They bought a T-shirt each and an ice-cream for each of the
children. It cost £42.50. How much were the T-shirts?

❋ They took a taxi back to the station. It went 4.2 miles and cost
£13.02. How much was that per mile?

❋ How much did the whole day cost them?

❋ How much is this per person on average?

Family day trip

Add-on
How much extra would it have cost if both children had taken

a friend with them who bought the same things?

Ice-cream
£1.25 each


